Name _____________________________________

Binomial Distribution Practice
1. Suppose 85% of all drivers always wear their seatbelts. Let’s investigate how many of the drivers might be belted among five cars waiting at a traffic light. 

b) Complete a probability distribution of the seatbelt wearing drivers.
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2.  Thirteen percent of the population is left-handed. If we select 5 people at random, find the probability of each outcome:
a) There are exactly 3 lefties in the group.

b) There are at least 3 lefties in the group.

c) There are no more than 3 lefties in the group.
